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O $\displaystyle f(x)=\sum_{n=0}"{\infty }\frac{a_n}{n!}x"n$J0 $\displaystyle

\{a_{n+1}\} {n=0}"{\infty}$ 000000000 $$
\sum_{n=0}"{\infty}\frac{a_{n+1}}{n!}x*n=\sum_{n=1}"{\infty}\frac{na_n}{n!}x"{n-1}=f(x).
$$

gg 2

O $\displaystyle f(x)=\sum_{n=0}"{\infty }\frac{a_n}{n!}x"n$J0 $\displaystyle
\{a_{n+k}\} {n=0}"{\infty}$ 00 OO0 OO0OO0O $\displaystyle D~kf$[]

g3

00 Fibonacci OO $\{f n\} {n=0}"{\infty}$00 O $f {n+2}=f {n+1}+f n$O0 OO OO
$f 0=0,f 1=1$00 00000000000 $f n$[

00 $f(x)$ 0 $\{f n\} {n=0}"{\infty}$s 0000000000 O20000 $$f'(x)=f(x)+f(x). $$
0000000000000 000 %% f(x)=C_le~{\frac{1+\sqrt5}{2}x}+C 2e~{\frac{1-
\sqrt5}{2}x},$$ 00 $C1C2s00000000O0OO0O0DOO $f(0)=0,f(0)=1¢000 00O
$\displaystyle C_1=\frac{1}{\sqrt5},C 2=\frac{-1}{\sqrt5}$00 O $$
f(x)=\frac{e™{\frac{1+\sqrt5} {2} x}-e~ {\frac{1-\sqrt5} {2}x}}{\sqrt5}. $$ 00O O $$

f n=\left[\frac{x"n} {n!}\right]f(x)=\frac{\left(\frac{1+\sqrt5} {2}\right) ~n-\left(\frac{1-
\sqrt5}{2}\right)~"n}{\sqrt5} $$

gd 4

O $\displaystyle f(x)=\sum_{n=0}"{\infty }\frac{a_n}{n!}x*n$00 $\{na_n\} {n=0}"{\infty}$ OO
OO0O0O0oOooOgag $xDf.$

ggs

O $\displaystyle f(x)=\sum_{n=0}"{\infty}\frac{a_n}{n!}Ix"~n$00 $\{P(n)a_n\} {n=0}"{\infty}$ O
O0000O0oOg $P(xD).$

g e

O $\displaystyle
f(x)=\sum_{n=0}"{\infty}\frac{a_n}{n!}x"n,g(x)=\sum_{n=0}"~{\infty \frac{b_n}{n!}x~n$Q0
$f(x),g(x)$ DO OO0 $\{a_n\}_{n=0}"{\infty}$ O $\{b_n\} {n=0}"{\infty}$ 00 COCOCOOOODO
O $f(x)g(x)$ O OO $\displaystyle \left\{\sum_{k=0} ~n\binom{n}{k}a kb {n-
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kHright\} {n=0}"{\infty}$ 000 0000O0O0O
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OO0 BellDOO $Bn$ 00 $[nj$0000O00OO0OOOO $%
B_n=\sum_{k=1}"{n}\binom{n-1}{k-1}B {n-k}=\sum_{i=0}"{n-1}\binom{n-1}{n-i-1}B_i.(i=n-k)
$$ 00 $$ B _{n+1}=\sum_{k=0}"{n}H\binom{n}{n-k}B_k=\sum_{k=0}"{n}\binom{n}{k}B k. $$
00000 $80=1B1=1$000000000000000O00O0O0OO $B n$0

000 $\{B.n\} {n=0}"{\infty}$ 00000000 $B(x)$0 00 0000OODOOO0O0OODODOO
000 $\{1\} {n=0}~{\infty}$ 000000000 $e~x$00 00 $$ B'(x)=e~xB(x), $$ U
$B(0)=1$00 0000000 $$B(x)=e~{e”x-1}.$$ 00 $$ \begin{align}
B(x)&=\frac{1}{e}\sum_{k=0}"{\infty}\frac{(e”x)"~k}{k!}=\frac{1}{e}\sum_{k=0}"~{\infty }\frac{
1}{k!N\sum_{n=0}"~{\infty}\frac{k~nx~n}{n!}\\

&=\frac{1}{e}\sum_{n=0}"{\infty Nleft(\sum_{k=0}"{\infty I\frac{k~n} {k!}right)\frac{x~n}{n!}.
\end{align} $$ O O $$ B _n=\frac{1}{e}\sum_{k=0}"{\infty}\frac{k"n}{k!'}. $$ [ ====0 8====
O000DO0oooo* OO0 ooopsn$ 00000 $n$0 0000000000000 0O0OO0O00O0O
O00000000000D000000 $ns000000000000000 $f 1=1,f 2=2,f 3=5%
00 $f 0=1$00 $\{f n\} {n=0}"{\infty}$ 00O OO0

OO0 $gn$00 $n$ 000000000000 ODOO0OODOOO0OO0ODOOO0ODOODOOOODODOO
dddddddooddooooooooodoodooooooooooooooooon
0000000000000 00000 $g9 1=f1gn=f {n-1}$00 $k$ OO O ODOOOOOODOO

000000000000 0000Db0000 $lNlek\len$OCD0OO0O $$

f n=\sum_{k=1}"{n}g kf {n-k}=\sum_{k=1}"{n}f {k-1}f {n-k},~~~n\gel$$ 00 $n=0$0 00
000000000000 00000000000000000000000000000 $f(x)$00
$\{f n\} {n=0}"{\infty}$ 000000000 $b 0=0%$00 O $k\ge 1$ O 0O $b _k=f {k-1}$00 $$

f n=\sum_{k=1}"nf {k-1}f {n-k}=\sum {k=1}"nb kf {n-k}=\sum {k=0}"nb kf {n-k}. $$ 00O
$$ \begin{align} f(x)-1&=\sum_{n=1}"{\infty}\left(\sum_{k=0}"~{n}b_kf {n-k}\right)x~n+b_0f n\\
&=\sum_{n=0}"{\infty }\left(\sum_{k=0}"~nb_kf_{n-
k}\right)x™n=\left(\sum_{n=0} " {\infty }b_nx"n\right)f(x)\\

&=\left(\sum_{n=1}"{\infty}f {n-1}x"n\right)f(x)=xf"~2(x), \end{align} $$ 0O O $$
f(x)=\frac{1\pm\sqrt{1-4x}}{2x}. $$ 0O O O $f(0)=1$ 00O 0O O $$ f(x)=\frac{1-\sqrt{1-4x}}{2x}.
$s 000000 $$

f(x)=\sum_{n=1}"~{\infty}2~ {n-1}\frac{1\cdot3\cdot5\cdots(2n-3)} {n!}x~{n-1}=\sum_{n=0}"~{\inf
ty}\frac{1}{n+1}\binom{2n}{n}x~n. $$ O O $\displaystyle f n=\frac{1}{n+1}\binom{2n}{n}$00
O Catalan OO

uo

00 $\sigma\inS n$ 00 00000000 0OO $1\leiNlen$g0 O $\sigma(i)\neis(0 $d n$ OO
$Sns 00000000000 $$n!=\sum _{k=0}"n\binom{n}{k}d {n-k}.$$ 0000000
$d n$ 00000000 $\displaystyle D(x)=\sum_{n=0}"~{\infty}d_n\frac{x"~n}{n!}$00 O

$\{1\} {n=0}~{\infty}$ 000000000 $e~x$00 $\{n"\} {n=0}"~{\infty}$ 0O OCDOODOO
$$ \sum_{n\ge O}\frac{n!}{n!Ix~n=\sum_{n\ge 0}x~n=\frac{1}{1-x}, $$ 0000000000
$\displaystyle \frac{1}{1-x}=e”xD(x)$J0 $\displaystyle D(x)=\frac{e”™ {-x}} {1-x}$[

0000 $$D(x)=\frac{e™{-x}}{1-x}=\frac{1}{1-
xHsum_{i=0}~{\infty\frac{(-1) i} {i!}x~i=\sum_{n=0}"~{\infty }\left(\sum_{i=0} ~n\frac{(-1) i} {i!
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Hright)x™n, $$ 00 $$ d n=n\sum_{i=0}"n\frac{(-1)~i}{i!}. $$0 0000 $Sn$ 000 0OO0ODOO
0000000000 $\displaystyle \frac{d n}{n!'}$00 000 $e”{-1}(n\rightarrow\infty)$[]
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O $\displaystyle f(x)=\sum_{n=0}"{\infty }\frac{a_n}{n!}x”"n,\displaystyle
g(x)=\sum_{n=0}"{\infty}\frac{b_n}{n!}x"n\displaystyle
h(x)=\sum_{n=0}"{\infty}\frac{c_n}{n!}Ix"n$J0 $f(x),g(x),h(x) $ 00000

$\{a_n\} {n=0}"{\infty} \{b_n\} {n=0}"~{\infty} \{c_n\} {n=0}"{\infty}$ 00000000000
$f(x)g(x)h(x)$ O OO $$ \left\{\sum_{i+j+k=n\\~~i,j,k\ge

OX\binom{n}{i,jk}a_ib_jc_k\right\} {n=0}"{\infty} $$ 000000000

g1

O $\displaystyle f(x)=\sum_{n=0}"{\infty}\frac{a_n}{n!}x*n$J0 $f(x)$ OO O

$\{a_nM\} {n=0}~{\infty}$ 00000000000 $f~k(x)$000 $3%
\left\{\sum_{n_1+n_2+\cdots+n_k=n\\~~n_i\ge0,i=1,\cdots,k}\binom{n}{n_1,n 2 \cdots,n k}a {n 1
}a_{n 2}\cdots a_{n k}\right\} {n=0}"{\infty} $$ 000000000

gg 12

O $hns 00000 $S=\{n_1\cdott 1,n 2\cdot t 2,\cdots,n k\cdott K\}$ DO OO OO D OO $P$
On000000 $n_i\ge0(NleiNlek)$O OO $tis 0000000 $P$0O n-0000O $a n™{(i)}s0
00 $\{a n™{(HN\} {n=0}~{\infty}$s D0 0000000 $fi(x)(1\le iNe k)$Oo O O

$\{h_ M} {n=0}~{linfty}$ 000000000 $$ h(x)=\prod_{i=1}~kf i(x). $$ 0O O
$\displaystyle f_i(x)=\sum_{j=0}"~{\infty\frac{a_j~{()} }{j!}x"j(1\le i\le k)$O $$ \begin{align}

h_n&=\sum_{m_14+m 2+\cdots+m k=n\\~~~~~~~ O\le m_i\le
n_if\binom{n}{m_1,m 2 \cdots,m k}\prod {i=1}"ka {m_i}~{(i)}\

&=\sum_{m_1+m 2+\cdots+m k=n\\~~~~~~~ O\le m_i\le
n_itn\frac{\prod_{i=1}"ka_{m_i}~{(i)}}{\prod_{i=1}"km_it}=\left[\frac{x~n}{n!}\right]\prod_{i=
1}~kf i(x), \end{align} $$ O O $$ h(x)=\prod {i=1}"kf i(x) $$ ====0 ====0 0000

$n_i=\infty$00 0000 $P$ 000 $tis 000000000 $$fi(x)=e~x; $$ 0 $n_i<\infty$(0 O
O$PsT00 $tisOO00OOOOO $$fi(x)=\sum {j=0}~{n_i\frac{x"j}{j!'}. $$ 0000 $t.i$
0000000000 $tis00000s$soouoooo $tisopnoooon-0D0000 %%
a_j~{(i)}= \begin{cases} 1,&j=3,5,7,9,\cdots,

0,&0 O, \end{cases} $$ O 0O $$ f i(x)=\sum_{j=1}"{\infty \frac{x™ {2j+1} }{(2j+1)!}=\frac{e"x-
e™{-x}-2x}{2}.$$====0 13====00000000000%1%$0 $n$ 0 0000000000000
O0oo0o0oooOooooooooooooooooa

00 $hns 000000000 OO00DO0 $\{h n} {n=0}"{\infty}$ 000000000 $h(x)$0
00 $$ \begin{align}
h(x)&=\left(1+\frac{x"2}{2!} +\frac{x "4} {4!} +\cdots\right\left(L+\frac{x} {1!} +\frac{x "2} {2!} +\
cdots\right)~2\\ &=\frac{1}{2}(e™x+e” {-x})(e”x)"2=\frac{1}{2}(e™ {3x}+e™x)\
&=\frac{1}{2\left(\sum_{n=0}"{\infty}\frac{(3x)"n}{n!}+\sum_{n=0}"{\infty }\frac{x~n} {n!}\ri
ght)\\ &=\frac{1}{2}\sum_{n=0}"~{\infty}(3~n+1)\frac{x"n}{n!}, \end{align} $$ O O $$

h n=\frac{3"n+1}{2}.$$ ====0 14====0 0000000000 $1$0 $3$000000 $n$ O
000 $h n$
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OO0 $\{h n\} {n=0}~{\infty}$ 000000000 $h(x)$00 $$ \begin{align}
h(x)&=\left(1+\frac{x~2}{2!} +\frac{x"~4}{4!} +\cdots\right) ~2\left(1+\frac{x} { 1!} +\frac{x "2} {2!
}+\cdots\right)~ 3\\ &=\left(\frac{e"x+e"{-

x} {2} right)~2e”~{3x}=\frac{1}{4}(e”™ {5x}+2e™ {3x}+e"x)\
&=\sum_{n=0}"~{\infty}\frac{5"n+2\cdot 3~n+1}{4}\cdot\frac{x"n}{n!'}. \end{align} $$ O O $$
h_n=\frac{5"n+2\cdot 3"n+1}{4}. $3%
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